62

N142}

SiLtE Liate} 2k (1)
: HORBEIS| XIS

| 2, A7|2kzf vi2|Ajel, ol
1. €9< AFsg 24l 444 (O15:17~18)

Ot5:17~18 17 L7t EY0ILE MAIXIE Hlst2] 2 E2 42tstX| Zef hste] 2 20| ofL| R i
5t 5t o]zt 18 TIMZ LS|of|A| 0|2 L] HX|7t §loiX|7| Mojl= 8ol UH
2= Z3 GIOX[X| OtL |51 Cf O|F 2|2t

2. gX9 FH oJuE B3 FA ol (O15:21~48)
7 =

0+22:35~40 35 1 F2| & A} 0|2 AlRl5t0] 25| 36 MHE 2% SoM 0f= AYO
L0k 37 Ol M O] 2 Al U OtZ & Hot 5= Chstl 523 Hsto] F 1
o siLtdS ME*OP tSteL] 38 0|20 210 XM £|i= AFO|R 39 =ME 19
ZoL| Y 0|RS H| Xt Z0f Altstaf shafeL] 40 O] & AHol 2 2Eat MX]|
xtel %%‘OILIEP



2016 HEV|SEMHY| 3] | F2| LIE[7t 5A 2D

4. 47|93} vk Ao Thet l5e] A

) B4 7Y (1123:27): S0 FBL A7 sHpd o] o that
Aol gl

0+23:27 2t ASEIX Q4l5h= AM7|2=2t Hf2[MelS0]0] 2| Zgt

°|_ 7E | P OE‘— r%El'
A E2OJLf 1 otofl= =2 AfEhe| et RE H{2 A0 7HSStert

=]

2) FRE HES A7t} shE o] AN S st LRl whg (1H15:3, 7~9)

OR5:3, 7~9 3 CHESH0] O|2A|E| L{8]= O{M|5t0] L{5|Q] ME2= SHLIHS| AYS Haet=Lf
7 2|AlsH= XHS0t O|AtOF7t L 5| of **3f01 E O[S =L LRI
8 0| t o] Y=2&= LHE 3E5lE| 0tE2 LHAIM =Lt
9 AR AHO R W= A0t 7tEX|L| '—f &E|0| Auist==rt St =L(2t of
Al

£3:20 22|22 Y| A= 19| ¢ofl o|FCt st S ¥E |7t GlLL 2¥e== ZE N
SS0|LI2f

2) &9 F Yol AATIo| FOoA A A4 T BEehAl dadg 1S o2 o FtTt
S S B (E3:21)

E3:210[dl= 29 2lof stiitgel 8t 2|7t LIEfG oL 2Eat MAIXSoAH SHE &2 202t

63



64

#5:4 2 2ol 2| FCt &S ¥ o8 St sl 2| AR0fA A BO{X| 230l A 2OE! X}

o

23:9 1 Qtof| A R[] EHO|L| Li7t 7HEl o= 880 Lt 20| OtL|R @& JR|AZE AS
O Un|e Zio|L| 2 UZoZ SHILHZRE Lt 2|z}

2) &4 H71E (§6:1, 15)

E6:1 1= 227t 22 2 512(Q 23|E st st %[0l HsHil=LE

t
£6:15 2 S o{n[st2|2 22(7+ & ofefofl X OfL|sta 23| of2fof leL] [ X2l
=5

1) EMORRE A (25:1)

Z51 22NN 22|12 AR E otel ARE FACL 22|22 2UFHA MM ChAl=
o Hol|E mIx| et

O

2) Ao Z-2ale} (25:13~14): &9 &4

Z5:13~14 13 HH|SO0t 3|7t RIRE
Z AIX| 2t QX Al2loZ M2 & i
A ZH0| 5t2f 5HAl 5 L0 M O] RO KL

fI5t0] RE4S Yl J2{L O A2 SH|9f 7|2
éf 14 2 ¥2 Ul 0|2 AIHSHI|E Yl &t

—_

L|
3) 3 =dE GAslEt (£8:3+4, 45:16): £ 9] 878 ol & 8=

£8:3~43 10| ilo=2 &
0/240} X}7] OFSS 7 U= KA1
x| 941 1 QS w2t Wt $a|o+|7+| B2 227} 001x

25116 L7} 0|2 L] 13l HaS wet

0ot
|2



2016 HEV|SEMHY| 3] | F2| LIE[7t 5A 2D

4, AT B3] 7% s AL,

1) shte& AR (F14:5~6, H415:23)

Ol

£14:5+6 5 0|1l M2H2 0| 2 X Lt b 07| 1

)% A

0.|[|:-| AI-El'S

ZtX7| gz FER|LzEt 6 22 B3| 07]= &t
At FE 91510 Mol 0= SLtEM ZARR0IQ HX| b= At FE 2I5t0{ HX|

OfL|5t0q St ZHAFSH=L|2t

BIT5:23 O|H|REl= ST OFAIX] 1 H| I &b L= ¢

2) PA AF (§15:1~2, 11718:13)

1813 2B 2t SA0| L AME AESH S L= I
SHIE 2E5stX| 8 of2zt

42 9l5t0]

E 28 A 7[LiL Z
FE 9510 &3] 017|2 H=

rir

77

s

in
P

Y M2

—-_

X

Yot R2|= 0rgs| BS0| et Xtof AFFES HEst XV|E 7[HA 5tX| o
S MREE XLzt

25| 17|Z HX| OfL|5t0{ L

65



A

2
q

tLteE Li2tet

o

cch
o

T
F—T —
I
5 o
- (o]
=<

I oN|
G

2z

=
TAFEHEHZHE) : 743l2] oft]
2.H|7|Smolufo] B=
3.84l0] otorst: AS

tlo

ER
| A

(

e
Dl2H=]
(@]

not-yet

AD
oloj
e

already

B.C

4
ag|AE
ERe
At

AA



